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101|R#A7 L 867 671 196| Kg |EE 972 86| 1,944 432
102|357 L 1,672 1672 Kg BIE 1,512 532
111|&EEF £ 155 155| Kg ERE - &4 1,728 417
113|RAV S 57 8 49| Kg |EE 864 378| 2,700 540
114|B5EFE 102 6 96| Kg |EEIR 864 e 2,700 1,728
15[ 1= 1 Ke |5 1,405 378
117[1E 451 72 379 Kg |EE 2,376 540|fEfE 3,780 216
121|rblE &€ 103 77 26| Kg |EE 1,080 107| £ 540
134[#= = 484 269 215| Kg |EE 2,000 1,080| & 2,376 1,404
137|&5E.3. < 8 8| Kg K5 3,834
140(5 I 17 17| Kg FE 38,880 7,200
147|EZ O 79 79| Kg il 8,000 4,000
158|&FEN A IEH 263 263|  Kg R 2,160 1,404
201{Lvb L 810 810| Kg R - ERE 400 346
203|/hd L 97 97| Kg = 378 270
205|3.3 L 143 143| Kg RI5 594 432
206| = 1F 400 400| Kg = 756 309
208| Mo % 3,797 3,797| Kg L 1,404 216
210|1F ALy 92 92 Kg |Ri& 5,940 1,161
212|&FE3 Y 289 289 Kg K4 - BIE 1,998 1,080
251|< B %<3 121 121 Kg |Ri& 3,359
252|L0AEECH 23 23| Kg =] 783 281
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254|ED12ELCA 3,385 3,385 Kg FEE 3,175 540
306|L e k) 12 12| Kg RI& 1,188

315|7: B9 6 16 16| Kg = I 3,456

319|2h o 186 186 Kg BJE 1,458 710
332|= 13 WA =EF 155 155] Kg Bl = 3,024 1,944
3bl{HHV 35 35| Kg |EE 2,700 EE 5,616 3,996
35411FxE<Y 57 30 27| Kg |FFE 1,728 1,620|F% 1,836 1,080
355(mp Y 155 155 Kg EH - P E 1,728 600
356(L L& 25 25  Kg SER 1,080 972
357|7RE 13 13| Kg FEE 3,888 1,080
358|KE 15 15| Kg FAN 3,456 1,728
362| & 9 9] Kg BJE 1,620

401|H W 78 16 62| Kg |XB8 1,620 1,404 %E 2,376 1,836
4025 5 &E 30 30 Kg A0 5,454 3,780
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BO4|AHED A L 25 25| Kg =] 1,134
5124 A L 70 70| Kg b 1,450 810
523|AEAAT 2 O 1,515 1515 Kg Mh 3,564 473
54| AEE E XV 31 31| Kg FE 1,728 1,560
558| 62 62| Kg b 1,264 702
560|487 2 249 249 Kg =] 2,786 980
576|4R & 1F 100 100| Kg b 980
581|4H T Y & 1,560 1,560 Kg b 810 551
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70110 BA 1,751 1,489 262 Kg |EE 2,952 1,086 (&= 2,808 1,490
71019 2 ®HA0F 18 18 Kg PN 1,375 1,215
BlBEFALANIN 237 237 Kg s 1,120 1,008
755(Fd L 18 18 Kg B 710
56| £ 9 5 5] Kg RIE 1,588
7611 b BHAEL 24 241 Kg & 2,314 1,080
76713725 W\ H 51 51 Kg s 2,160 1,872
B01[IBAL = 1S 210 210 Kg tmE - mA 2,700 700
802|1 x| 630 630 Kg gl 1,782 864
8041 % 9 32 321 Kg blo ] 1,080
805 = 1E 315 3151 Kg bF 1,058 270
80718 H D F 16 16 Kg B =2 5,076 4,860
810|FAKF 24 241 Kg bF 2,916 2,700
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